[ Efficiency vs vertpos |
0.1

20.09
4
20.08
(8]
§0.07
[
£0.06
0.05
0.04
0.03
0.02
0.0

. .J-I-!.I-I-I-I-!.IIII!IIII!IIII!IIII!IIII!IIII

1.0

Ratio

TTTT T
i

10

1 10 0?
TP vertr (cr%)

Efficiend

—=— DQM_CKF_501tQCD

—e— DQM_mkFit_softQCD

—— DQM_mkFit_softQCD-ncp
—— DOM_mkFit_softQCD-newTr3

~n 0.2

20.18
(2]
>0.16
>
2
§0.14
o
£0.12
(]

0.1
0.08
0.06
0.04F
0.02

0

.......................

.......................

......................

.....

...................

.....

...................

........................

Ratio

2

15

........................

......................

[ Efficiency vs. sim PV z |
~n 0.2

>
2.0.18
£
50.16
20.14
o)
20.12
0.1F
0.08

0.06

efticie

0.95, L

0-8 6 4 2 0 2 4 6 8 10

Sim. PV z (cm)




	Contents
	Page 1


